0001878631218999

& o0 HENFAY 09—

2014 ¥ P 55 1R

(1) AT S O 1 ADEX % §i k.
(2) nBADEST S, O s, % Kb k.
(3) ZhbDOESHOHHOKR

s=8+tsy+ -+ 5+

Z3RdD L.

@)

(25— 3
1= (23-3)°

20— 1203
(23 — 20

_ 3(f3-1)
g

%

1| 10O RIA 1 OE=MY ABCIS, BHOESIZESE S, Sp Ss -+ EMIHEIEZEDL T 5.
A
) Spat2aBze fnen<. A
Sa
714 5).
2
Zp, =1
L+ Z Ay Y iy s U
0= 5[5 - L0
= Q: ZE 3 B /\‘-,Q -
7 1 [ -L-_Q
L Iz =1

@) eFAFERTIC.
Lner * %-Qnﬂ = fn

o fay = (25"3>.Qn
{0} w A28 2033, L 2[3-30

Tre ¥ e w3, 2 Q= (FE-)"

Se = A= @R -3

%

Z (25-3)1-!— (1[5*5)4"' =t

0<23-3¢<1 & 0<(xE-3) <




